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BECC-110 : INTRODUCTORY ECONOMETRICS

Time : 3 Hours Maximum Marks : 100

Note : Answer the questions from each Section as

per given instructions.

Section—A

Note : Answer any two questions from this Section.

2x20=40

1. In a regression model, why do we include a
stochastic error term ? What assumption do we
make about the error term ? Discuss the
problems we face if these assumptions are

violated.

P.T.O.
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2. What 1s meant by heteroscedasticity ?
What are its consequences ? Describe one of the
methods of detection of heteroscedasticity in a

dataset.

3. Specify a multiple regression model. Explain
how its parameters can be estimated by OLS

method.

4. What is meant by autocorrelation ? What are
its consequences ? Describe the D-W test

method for detection of autocorrelation.
Section—B
Note : Answer any four questions from this

Section. 4x12=48

5. Describe the problem we face if a
relevant variable 1s dropped from an

econometric model.



10.

11.
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Write a short note on the problem of

multicollinearity in a regression model.

Specify a regression model with an intercept
dummy variable. Interpret the model. In this
context, explain the concept of dummy variable

trap.

Distinguish between RZ and adjusted R2. What

1s the relevance of adjusted R2 ?

What is a hypothesis ? Explain how a
hypothesis can be tested. In this context,
explain the relevance of level of significance

and degrees of freedom.

Explain how the OLS method can be applied for

the estimation of the following model :
Y =a KIP

Obtain the estimators for o and f.

Give a brief account of the tests for identifying

the most efficient regression model.

P.T.O.
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Section—C

12. Write short notes on any tfwo of the

following : 2x6=12
(a) ANOVA

(b) Confidence interval

(¢) One-tail test

(d) Prediction
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